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QID : 301 - Complete the sentence using appropriate option.
| U this book since morning.

Options:

1) had been reading

2) has been reading

)

)
3) have had read
4) shall be reading

Correct Answer: 1) had been reading

Candidate Answer: 1) had been reading

QID : 302 - Complete the sentence using appropriate option.

Which tense is used to express general truths and facts?
Options:

1
2
3
4

Present continuous tense

Present perfect tense
Past perfect tense

Present indefinite tense

~— ~— ~— ~—

Correct Answer: 4) Present indefinite tense

Candidate Answer: 2) Present perfect tense



ADDA247
Stamp


QID : 303 - Complete the sentence using appropriate option.

According to the prevailing rate, two dozen............ rupees one hundred.
Options:

1) costs

2) cost

)
)
3) costing
4) costed

Correct Answer: 1) costs

Candidate Answer: 4) costed

QID : 304 - Identify the tense used in the given sentence.

"Sasha scolds and asks her to go way."

Options:

1) Past indefinite tense

2) Past perfect tense
)
)

3) Present indefinite tense
4) Present perfect tense

Correct Answer: 3) Present indefinite tense

Candidate Answer: 3) Present indefinite tense

QID : 305 - Select the most appropriate option to change the sentence from direct speech to indirect speech

She said, "l am visiting London next weekend".
She said that ............... visiting London the .................

Options:

1) She is/following weekend
2) she was/next weekend

3) she was/following weekend
4) she will be/next weekend

Correct Answer: 3) she was/following weekend

Candidate Answer: 1) She is/following weekend

QID : 306 - Select the most appropriate option to change the sentence from direct speech to indirect speech




He asked Betty, "Do you like sweets"?
He .oooooeenn know if Betty......... sweets.

Options:
1) want to/like
2) wants to/likes
)
)

3) won't/liked
4) wanted to/liked

Correct Answer: 4) wanted to/liked

Candidate Answer: 3) won't/liked

QID : 307 - Select the most appropriate option to change the sentence from direct speech to indirect speech

He said, "Do you speak English?".
He asked me whether ----- English.

Options:

1
2
3
4

He speaks
| spoke
They speak
You speak

~— ~— ~— ~—

Correct Answer: 2) | spoke

Candidate Answer: 4) You speak

QID : 308 - Select the most appropriate option to change the sentence from direct speech to indirect speech

Nancy said, "We went for a summer trip last year".
Nancy said that ............ for a summer trip ......cccccoeeenee

Options:

1
2
3
4

we went/the last year

she went/the year before
you went/the coming year
they went/the previous year.

~— ~— ~— ~—

Correct Answer: 4) they went/the previous year.

Candidate Answer: 4) they went/the previous year.

QID : 309 - WIS TE HT H0HT Fe-




Correct Answer: 3) I+

Candidate Answer: 3) X:+9]

QID : 310 - I 1 A>T F3-

Options:

Correct Answer: 4) 3d+3{J

Candidate Answer: 2) 3q+3J

QiD : 311 - PGSR =R e |y M i . I < 1

Options:

-—

N

4
Correct Answer: 4) alU®

Candidate Answer: 3) B3{gd

QID : 312 - BTcll HAFT gTaR BT Y T ITI?

Options:




Correct Answer: 2) 7d &Rl

Candidate Answer: 2) 7d &Rl

QID : 313 - Y IC A qhl

Options:

1) 9 o1
2)91 o1

IRSERIR
) T

()

4
Correct Answer: 2) 9T oIl

Candidate Answer: 1) ¥ oTcl

QID : 314 - Sl GRMT HETaR BT 31 &-

Options:

Correct Answer: 3) &H I Y

Candidate Answer: 3) & J Yl

QID : 315 - U A 7S TE ©-

Options:

CEIG]
Cle
Tq

N =

)
)
3)
4) T

Correct Answer: 2) dUJ

Candidate Answer: 2) dlY

Qp:316-FPARa@E®T Ad FRUGIR  WBIIT &




Eot J foede s::i:::vT-::f::s'_-lﬁ ? Sl HYF ﬂg)f Cl ﬁ 3 @'\IJEW [SGECY

Correct Answer: 2) 307 & foaRieh

Candidate Answer: 2) 307 &1 foarieh

ap:317-Pafaw®d WTAH AUGIR BT T:

A Y PeaEd T8 ReH DFAETR BT e TR 9 TR F § FH Dparai 31 T 3@ & ST T
g;.....aqﬂﬁ\mﬁ%ﬁ?ﬁﬁlﬁawémﬁmﬁ@ﬁ SHAE OSB3 Y A &Y Wt § AeHH Dwde | o§R1 g8l
B oW § USTH DHATER H P! 98l A BaK § oFoBaaRel I ERY T Bl B St AR

fomaamdt S8 94l Bidl I a1 FaH fowara |

frdER A A TgdR ... BT qal  JRfPiom)

Correct Answer: 4) SRIGHIH!

Candidate Answer: 4) SX&H!

Qp:318-Faflaw® WH MWUGIR B §:
HAH T IS REH DHAST BT g TR i X F § S Dbara 3 1 3ifg o ST T




Correct Answer: 3) O3 Gh?@ﬁ

Candidate Answer: 3) >3 ﬁ?@&ﬁ

ap:319-PafaE®d A FATGIR  BIST T

%&r ﬁo—e‘cﬁ‘s'qiﬁrﬂf\mm irﬁaa?ﬁsqﬂﬁmﬁrg SHoHAERE Bt ER g aﬁaﬂé‘cﬁw

cepagipHl o8l gl Bict gl YaT i fosbdrd|
Trﬁ?fﬁaﬁ Hﬁ s:ili::-aﬁﬂﬁwma?ﬁg?

Options:

q Fﬁﬁﬁ?ﬂﬁﬁ ~Tdgl Ya3UTT ddlh
GG PHH b

Correct Answer: 1) § T DI QR IPA BT [IgI GBI TAThR

Candidate Answer: 3) g I DR

QD:320-FAfaEdr q&r mqaeﬁv WIS q:

1) S ?‘Fﬁ SR & PRUT

2) 31 18 IHER! &R Wil & oawer 3 89 & SR

3) 31 VWG b

4)ITIRI AT H & HRUI

Correct Answer: 2) a?néamwsvuﬁaﬁ%f\mas‘aﬁ$m

Candidate Answer: 2) 3l T8 STH®RI & Wl & a@er 93 81 & SR

ap:321-PafaEwr @s MWUgAR BIST T

TRFAHE T TS REF DA BT e TR 9 TR P § A Lpara i a{ﬁamgaqrxrrqﬁ?ﬁ
SHAER A1t F Ht bR BN TH Dardefome oM 3 17 & Tt g Agar Dode | <§R1 Tt
B WAl E USTH HATER H P! 98dl ITH BaK § oFoBaaRel I &RY Bl B Sl AR
Sohd il <8l g4 gl el Wl Wi fddre |




YD BT Y TT§?
Options:

) SFHIA

) HeTaH
) He Tl

)

1
2
3
4) P!

Correct Answer: 1) A

Candidate Answer: 4) P

ap:322-PAfa@@ -M&H MAUGR HIYY T:THITT J dIH S8 T8 dd oY o -
TS T T IR o TV AT TR O G| T WIR T PR T St @ g, I G & 91y e
TOIRT & 3R oS H-HHg $1 §a1¢! 31, 98 e o1 9616 ol T ¢ | G BT, 39 Ials! 4 Jloolsl 468 & Iid
08 N USH gH TS A WR Wt YaTe! U foras foad § ge Sl 81 SASIwd al s 107 olerdil o3t 1 3
WRIOg o aqu it SThA oggeTdn =1 ﬁ?‘ﬁWWH\ 3R oft 3 SHRE T o fITe, Bore
WA HE PG AMASNaTI S A DI U Jhd 8l

SR T oRT T S fOHEHHT T 82

Correct Answer: 3) g Bl

Candidate Answer: 3) qg &1

ap:323-PAfa@E@ - MAUgR HISY T:THITT J IH A8 T8 od oY o -
PRI T3 T PP Y 38 AU TR ST JobelT| 3 GIR A TG Ta Bl 6 312, 391 & & Iy SfiaH
TOIRT & 3R S &1 §616] ®1, TG e ol JelG ol I g | T H Y 39 TaTe! ¥ Y STel ¥ s & Aid
08 W ucHh gH T BN AF W [ XS] U or-ah foad I ge St 81 oThd dl & f0d oTadh <81 § 3
WROg ot A Wt Sdha foesman a1 ﬁ?ﬁﬂ'ﬁ'&{ﬁq\ 3R oY 31 WW@W%‘I@E, aﬂﬁ
MAAPI® IRpAATASAI S T P U1 Fhd 8l

g & 1Y Sfta TeIRT

Options:




4) fosrgwea 1 §eTe fomar

a:iﬁi:ém-qq ﬁ Ca a'ﬁ

Correct Answer: 3)

SOgHHY & g9l fowar

Candidate Answer: 4)

Qp:324-FPAafa@Ew - TAUGR BISY T FHITT J dIH Al 5| Tg ol oY <l -
TS T d TP o S/ A0 TR S b1 39 R A S T Bt e 31, 39 g & 9 Sitad
TOIRT & SR S0 &1 §a1dl &1, 98 G 81 961G 81 T ¢ | G ST, 99 Jadle! 3 I sTel 368 & I
o8 & W%TTCITB}[I I R Wt XerTms! U fo0"ah -r::::cﬂﬁ@@?.’\?l?ﬁ%l TSIhd ol B 107 oTadh o J 3
RPgorer At oA Degmman 81 @A ey R SRe g aa ey, fogw
B H PRPdNUASIGT S A &I U1 9hd 8l

UHE & Aa 28 A UeHh D I ol §
Options:

1) Gerrs! foSTEHI! SicR J Uae TiaT fogus!

2)dg 4l « STIB R “c Tl_'it

3) TS| foSEHIR SR d e a1 Faggl SR a8 a1 <Tode ge T Il
4) TTH ﬁ_‘g a:iri:e:lﬁ

Correct Answer: 1) WdTe! foSG-HHg 3R ¥ U Tidl fogas!

Candidate Answer: 2) @8 a1 ‘TSt e T8

Qp:325-FPAfa@E@ P AUGR BISY T:THITd J JIH Gl ol Tg ol oY <l -
RIS T T I T AU TR O YTl 39 WIR I SR T Bt @i g, I YW & Wi e
TSIRT 8 3R SRy Y 9a1d] 3, 98 Ge 81 SeT 81 T g | GBI 39 Iaret ¥ YPBel 96s & Ui
o8 & W%TI'EITB}H ﬂF{W@@ﬁWW Reac i Wﬁ@?ﬁl’ﬁﬁ%l 3Slhd ?ﬁao_c\f od méﬂﬁeﬂﬁ
RPF o dw Wl STEA Degwan 81 @ld e sy R My Rg g oM fuey,  Hogd
SaTHl & PRD d YA SIgI b d ! U1 Tobdl B

B DTGP S BAY  oHH B 22
Options:

1Hd YU E

2) 3 AYTd! §9 91d 8|

3) 3 quft foawal 100% 3idh o1 HRd Bl
4) AASIGIFH T B U THd g

Correct Answer: 4) 3UASlad & @ &I U1 dhd 8l

Candidate Answer: 4) 3UASlad® d DI U1 Ghd g




QD:326-PAfA@EW B THUGR BISY §:IFIT G I gl ¢ | Tg §Id oY ol ARG-
TS T TT He 1 S A0 TR o G| T GIR AT a A F @1 2, 39 G F 9 S
ORI 2 3R P 3 JoTd 31, WEE A @R AT TR Y 39 A Y PRI Yo F I
08 W USH I TSN I W G YS! U FFI Fad ¥ Fe ot /1 3MSIohd dl ds 107 oTadi &3 F 3.
RPTorer At TR DegEan 81 @A ey R e gngaa ey, fogw
gD H PRb A UASaA S A Dl U Hhd

YT <RI BT 3Ug RilED EﬁTIT
Options:

1) TR S Y
2) S &1 d

3) 0T oreplias 7 99T &1 78
4) R

Correct Answer: 1) JHI BT

Candidate Answer: 4) 3{JRITHT

ap:327-PAfaEdcm® AU BIFY ¢:JHITT § dH gl | T8 Sid oI <) ARE-
RIS T T IR I 3T AU TR ST YhdlT | S IR A oo T sl & &1 8, 391 Y& & 91 Sitad
TOIRT B 3R S &1 9a1e) 31, JE GE S q9IG 8 T g I T H1 Y. 39 Jare! ¥ IR auel J68 & 1id
o8 D UCH IH TG AF WR WSt YS! U forah foad F ge St 81 HTohdl of 8 107 oTadh 38 3 3
RPFore A TR g g1 @A ey RV e g aa ey, fagw
AT ®HI H PRb d YA SllgI b @ &I U ¥ehd 8l

I HIHE S 9Tl T Sl BT BIT?

Correct Answer: 1) J9HY

Candidate Answer: 1) J9HY

Qp:328-FPAfa@EW WA TAUGR BISY T THITT J IH Al 5| Tg o oY <l -
RS T d IR o S A0 SR o ThdT | 39 IR A S T Bt e 31 g, 39 g9 & 9 Sitad
TOIRT & SR S H0a &1 Sa1dt &1, 98 Ge 81 961G o T ¢ | G ST, 39 Jadle! 4 I sTel 968 & I
o8 VUCH IH TGN AF WR WSt YS! U fordh foad F ge S 81 HTohdl of 8 107 oTadh 38 3 3
WROg ot ag Wt STdhRA foewman a1 ﬁ?ﬁWWH\ 3R ot 3 mméﬂﬁﬁq, asq
SaA DI H PRb A UASad b A Dl U b




D T §qTE B STl 872
Options:

) THT B Y H SRAIG B aral
)T DI Y | A1 961G B aral
) T Bl Y H FeTG B arell

)

Correct Answer: 1) JHY DI Y H §REIG B aral

Candidate Answer: 1) IHI &I TY H SR&EIE HA ardl

QD:329-fPAfTEAcime AU  HIIY ¢:JHUTT § IF Al 8| T8 Sid S <) IRA-
TS T W ISP S IO TR S ThdT | 39 IR A S T St s 31 g, I W & 1Y Siad
TOIRT & 3R oS -H0g 1 Sa1¢! 31, 95 e o1 9616 ol T ¢ | G ST, 39 JIdls! 4 Jloolsl 368 & I1d
o8 WUSH 9B TGl I W TSI YNNG T T fad ¥ Fe ot 1 SIhd dl Bbs 107 oTadh o § o
R g ot awr o »::i':léﬂﬁ o QABIdT | BT ﬁ?ﬁﬂ'ﬁl’qﬁ{ 3R Y 3 mma:ﬂﬁl@, aiﬂ
AP ® IRpdATASAI S T P U1 Fhd

TR 9 T ok Wt mReog < iman of wehdr?
Options:
) TG DI
) ST B
) THYG SR SR gt
)aﬂ% s:i?i::-7-|€)[

1
2
3
4
Correct Answer: 1) g B

Candidate Answer: 3) ¥HI 3R W@’ﬁ

Qp:330-PAfaEd e AUgR BISY T:IHITT J IH A8 T8 dd oY < -
RIS T3 T PP W 38 AU TR ST JobelT| 3 GIR A TG Tqa Bl & 31 2, 391 & & IrY Sfia
TSIRT & 3R OS0HY &1 SaTd] B, 98 e ol 961G 61 T 8| G DIH 39 Gars! 4 YOI s & dld
O8 W UCH IH T AF R WSt TS Ueb oA fae T ge Sl 81 Mol of B8 107 T 38 I 3
R g o Al SRR Degmman &1 @i wm ey iR e AR wmg A faey,  fagw
AP ® PRb dATASadId @ B O1 9hd 8l

TS Y TP g & DAGTg I 7 -1 9 HH F Ieeru £ MW e
Options:

) Garst, off ¥bs & Wd 078 & Ugd I T |

) A R TS TSt U fouer foad § ge e

)gg@,ﬁ‘f@%%ﬁ%ﬁg N UeH IH T R AF W Gt YS! U forah fad ¥ ge oy gl
) ifﬁ::-ﬂ%jf

1
2
3
4




Correct Answer: 3) Wale!, Sl 98 & U4 08 A Uedh 9o TGl 3R ¥ R Wl XaS! T foHah
ek EIY @F‘ﬁ

Candidate Answer: 3) TATS!, S 98 & 4 108 X Ueh I T &l 3R ¥ R W XSt T foHeh
fPad A geamw <Ml

QID : 331 - In a town of population 100,000, 20% have internet connection. And those who have internet
connection, 15% use PTCL internet service. How many people have internet service other than PTCL?

100,000 TSI} 9T Uh YR H, 20% P U S B Aol 3R O gexAc b1 97, STH I 15%
Ui Sexe AT &1 ST Hd g1 NERAua & 3t foda-wiT & UMy Sex-e a1 g2

Options:

1) 3,000

2) 7,000

3) 12,000

4) 17,000

Correct Answer: 4) 17,000

Candidate Answer: 1) 3,000

QID : 332 - A library has an average number of 510 visitors on Sunday and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with Sunday is:

T g ao‘raanﬁaa'r\faﬁ&ﬁwmo%msﬁ?a 2EH 240 FigH 3§ RIaRIY  gF a1 30 ot

Correct Answer: 3) 285

Candidate Answer: 1) 300

QID : 333 - A mixture contains milk and water in the ratio 5: 1. On adding 4 litres of water, the ratio of milk and
water becomes 5: 2. What is the quantity of milk in the original mixture?

T 050 U g 3R U &7 S1UTd 5:1 B 4 THer U OHARR g4 3R U &1 3UTd 5:2 8 ST 81 ga foF |
& 3




QUBIHT of §?
Options:

1) 40 litre
40 e
2) 36 litre
36 Tex
3) 20 litre
20 TR
4) 24 litre
24 TR

Correct Answer: 2) 36 litre

36 dlex

Candidate Answer: 1) 40 litre
40 dieR

QID : 334 - What is the quantity of water should be added to a 75 litre mixture of milk and water so that the
percentage of milk in the mixture decrease from 75% to 45%7?

Y 3R U & 75 cfex 07 o ot &t Dwai R aaret fae P mm gy &1 fawars% 3 gedmr 45% 8
STE?

Options:

1) 50 litre
50 Tex
2) 75 litre
75 diex
3) 25 litre
25 Tex
4) 40 litre
40 IR

Correct Answer: 3) 25 litre

25 Tl

Candidate Answer: 2) 75 litre
75 A’

QID : 335 - A certain sum increases by 50 % in 5 years. Three sums x, y and z are lent for 10, 15 and 20 years
respectively. If amount on each sum is equal, then find the ratio of x, y and z.

o Ofd R 5 a9 7 50% s¢ et g1 9 Rt x, y iRz {10, 15 3R 20 99 & @R €t 18 81 g
FY IRV RIRE, WA x, y 3R 2 HT UG TR |

Options:




1)6:5:4
2)9:4:6
3)9:6:5
4)9:6:4

Correct Answer: 1) 6:5:4

Candidate Answer: 1) 6:5:4

QID : 336 - Mohan invested Rs. 100,000 in a garment business. After few months, Sohan joined him with Rs.
40,000. At the end of the year, the total profit was divided between them in ratio 3:1. After how many months did
Sohan join the business?

HIg = 1000,000 YA HUST JaHE H &l foHATH® Wil & dla, g+ 40,000 T B 1Y IHb WY S T
qY & 3id H, Pl AIH I a1 3:1 P U A FafHord parman e paHeiH ae  aug | R 312

Options:

Correct Answer: 2) 2

Candidate Answer: 1) 3

QID : 337 - Which states of India has borders with three countries namely Nepal Bhutan and China ?
YRA & Dpwr &t i = 31 Aurd, ie SR 9 9 el 67
Options:

1) Arunachal Pradesh
U G¥
2) Meghalaya

3) West Bengal
[CEECUIK

4) Sikkim

oy H

Correct Answer: 4) Sikkim
29 =

Candidate Answer: 3) West Bengal
[CEECUI]




QID : 338 - Which of the following states of India does not have common border with Myanmar?
YRS AT wa I sRr & AR S Iy e A GTd?
Options:

1) Assam

3HH

2) Nagaland

NS

3) Arunachal Pradesh
A ¥

4) Mizoram

Correct Answer: 1) Assam
STH

Candidate Answer: 2) Nagaland

QID : 339 - Which is the governing body of the Department of Atomic Energy in India?
YRd T URATY] ol P aumsT ARf R Tammie 1 52
Options:

1) Atomic Energy Commission of India
YR BT URHTY 3ol SN
2) NITI Aayog

3) Department of Space
A fogum

4) DRDO

SleRaten

Correct Answer: 1) Atomic Energy Commission of India

YR BT URATY 3ol SN

Candidate Answer: 4) DRDO
SleRstan

QID : 340 - Which country signed a partnership agreement with the UNWTO for promoting tourism?

SHW A UNWTO & 1Y TTeleil T e R oy

Uged $l dgar i &

Options:




1) Sri Lanka
ﬁﬁﬂ

2) Myanmar
HAR

3) Laos

ISR

4) India

HRd

Correct Answer: 4) India
URd

Candidate Answer: 4) India
URd

QID : 341 - Who is the first Indian female boxer to win a gold medal in the Commonwealth Games?
I HSA WA T U1 UG Sita aTalt Ugell HRAg (e g oaTol & g7
Options:

1) Pinki Jangra
| GI'ITI_ST

2) Mary Kom
Rk

3) Manisha Moun
AT T

4) Simranijit Kaur

Correct Answer: 2) Mary Kom

BRI

Candidate Answer: 3) Manisha Moun

HAST A

QID : 342 - Who is the first Indian woman to win an Asian Games gold in 400m run
=TS Wl #1400 Hiex G T U1 St aTalt Ugelt YR fige & 872
Options:

1) M.L. Valsamma
TH.Ud. 9o

2) P.T. Usha

Ut d. 3w

3) Kamaljit Sandhu
CERNIRELY

4) K.Malleshwari




F.7 8

Correct Answer: 2) P.T. Usha
q.é. W

Candidate Answer: 1) M.L. Valsamma

UHU. 9ol o

QID : 343 - Which writer won the JCB Prize for Literature for his novel ‘Fire Bird’?
fPHED 4 UA Y NBRR &' & AR HISE R oTSidr?
Options:

1) Arundhati Roy
fifﬁ?efma TTJ

2) Perumal Murugan
U Ogdyg ™

3) Salman Rushdie
R & M|

4) Jeya Mohan

o1 HigA

Correct Answer: 2) Perumal Murugan
U Hayg ™

Candidate Answer: 4) Jeya Mohan

w1 HiE

QID : 344 - Name the state animal of Bihar ?

CEERP A UYY BT M Fd1¢?
Options:

1) Elephant
RIEll

2) Tiger
[SEUN

3) Bull
EEIGIS)
4) goat
L]

Correct Answer: 3) Bull

ESIGIS)

Candidate Answer: 3) Bull
99 (ds)




QID : 345 - According to Right of Persons with Disabilities Act (2016), which of the following term is appropriate
to use?

f3reeR 37T (2016) & SFAR, 7 WA PoHuzEEd &1 am Iug d 82
Options:

1) Retarded student

2) Handicapped student

3) Student with physical disability
4) Students with crippled body
B ot = TR B

Correct Answer: 3) Student with physical disability
B -::Zj::smw i

Candidate Answer: 2) Handicapped student

QID : 346 - The application of Vygotsky's theory to children's education proposes .
& B om P odar ok o9 d H1eg A farad el g
Options:

1) Collaborative learning
HEANT HbTALTH

2) Operant learning

foar gd f3remms

3) Rote learning

I dferH

4) Passive learning

o9 T f3rerms

Correct Answer: 1) Collaborative learning

TN Hh 37eRTH

Candidate Answer: 4) Passive learning
27 Ry

QID : 347 - Ruhi believes that she did not study properly which is why she did not get good marks in her science
test though she can do science quite well. She is attributing her performance to

S HTAFT ¢ Do e A uers oeh! ft oemRu ST g ol 08 A 3 & ®R STET e 98
ST Id 3 BT SRAPRIBAI gl Bl 3T TR BT RV O HH RSP Bl PR I § 2




Options:

1) Environmental factors

YR SR
2) Lack of ability
gl gTdh! HH
3) Lack of effort
fopI=rer ot et
4) Tough luck
fbaTur g

Correct Answer: 3) Lack of effort

fepT=T=T 1 Bt

Candidate Answer: 3) Lack of effort

T &t HHt

QID : 348 - What is the main goal of 'assessment for learning'?
f3rerm & DaemeaT 19 1 @@ a1g?
Options:

1) To compare student performance to a standard or benchmark

09 T G ! gaH U A I1 9F 90 & AT

2) To provide feedback to students that can be used to improve their learning

g cormm 00 M S OoReBUanT 39 {3 7 guUR & i waw v §
3) To identify students who can be categorised as 'slow learners'

3 27 crugipt vgar &1 foorein FRen ardl & U W 9 d wam Tdhdr §

4) To evaluate student performance and assign grades

33 o’BF TR BT Th HAT SR S ol

Correct Answer: 2) To provide feedback to students that can be used to improve their learning

S ol f50F I AT SRABB U S R 7 UR b (e ST Jebdl 8

Candidate Answer: 4) To evaluate student performance and assign grades
5F olBF GRM H1 Y Tih HAT R S &A1

QID : 349 - At Which age can children engage in word play and like jokes and riddles that involve a play on
words?

PPBgE &Y afd Od 1 RIHd 81 9d § 3R T Jepdl 3R Tgloaain! Ude o) ¥dhd g (0o d Tl &1 dd
fRIme g1

Options:

1) Seven years
ld dy
2) Three years

fT




NIBEEL]

3) Twelve years
dRg dY

4) One year
Uh dy

Correct Answer: 1) Seven years
NIGKCR

Candidate Answer: 1) Seven years
ld dy

QID : 350 - Dysgraphiais a :

8 1=:Thdl
Options:

1) Psychological disorder characterized by lack of attention and impulsive behaviour
% Ald el e Duesha®dr I &1 31414 3R STaRid J98R ¢

2) Neurologlcal disorder characterized by trouble in forming letters and shapes.

& dEE CSEPLRA 33 3R BRI B FHH H b3S B

3) Speech dlsorder characterlzed by stuttering and errors in artlculatlon

% YUl P gee D oNeh asd gh M 3R 3 IRUTH  {eame1 gl

4) Locomotor disorder characterized by gross motor |mpa|rment

Correct Answer: 2) Neurologlcal disorder characterized by trouble in forming letters and shapes.

Candidate Answer: 1) Psychological disorder characterized by lack of attention and impulsive behaviour

Qa; Il:na [

STl I BT 3T 3R ATRMA Ta8R gl

QID : 351 - The Declaration of the Rights of Man and of the Citizen was inspired by:
T SR AN S & USRI BT aron fwed X o
Options:

1) American Revolution
\}Iﬁ' Qa'ﬂ' Hd
2) Indian Independence Movement
YR d T sfighad
3) Russian Revolution
a fid
4) Chinese Revolution

Correct Answer: 1) American Revolution

3H I




Candidate Answer: 2) Indian Independence Movement

YR o o 3figie

QID : 352 - What was the fate of Adolf Hitler?
TSl fogcamiur our?
Options:

1) He was assassinated

JTPIE WYl TI_Sc

2) He died of natural causes

G Al 9 ¢ .:::::::»r@aaﬁo‘r\mﬁ I EF

3) He was captured and imprisoned
3 Qobg [oaaimn 3R Pe B fooramn
4) He committed suicide in his bunker

I AU TP A MG W al

Correct Answer: 4) He committed suicide in his bunker

I SO FIRAIME oI Al

Candidate Answer: 4) He committed suicide in his bunker

I SO FIRASIME oI Al

QID : 353 - What is the minimum age requirement to contest elections to the Lok Sabha in India?
YR T AHaHT $T 1 a4 & 0T I09 g Far - g2
Options:

1) 25 years
25dY
2) 21 years
21dY
3) 18 years
18 94
4) 30 years
30dY

Correct Answer: 1) 25 years
25dY

Candidate Answer: 1) 25 years
254dY

QID : 354 - Which of the following is an example of human-made capital?




[0 NEGIRCE: | @' ﬁq AEd e::i::sﬁﬂ?@ D 3algrul %?
Options:

1) Rivers
[RERI
2) Factories

HREH

3) Forests
a4
4) Minerals

foTs

Correct Answer: 2) Factories

HREM

Candidate Answer: 3) Forests
dq

QID : 355 - In India, the official religion of the state is :
YRAAY BT RAYBT D 47 B -
Options:

1) Hinduism

3) Christianity
ERIEEC

4) None

Correct Answer: 4) None

Candidate Answer: 1) Hinduism

QID : 356 - Which river forms the boundary between India and Nepal?

DI I T YR 3R AUTd & S AT 7 82

Options:

1) Ganges

T

2) Sharda River
TR Al




3) Yamuna

g4
4) Sutlej

Seiegot

Correct Answer: 2) Sharda River
TR Adl

Candidate Answer: 2) Sharda River
RIS

QID : 357 - The Indian Association was founded by whom?
29 T@ Peas cREDsouRIAA &t yg o1 718 o
Options:

1) Shishir Kumar Ghosh and Radha Kant Dev

-::::::ﬁTQ'I'@TI'IT U 3R 7T BT éa'

2) Surendranath Banerjee and Anand Mohan Bose

W AT SR 37 AgT 9

3) Surendranath Banerjee and Bankim Chandra Chatterjee
W TS AR SFHE  Fed

4) None of these

FHAPR T

Correct Answer: 2) Surendranath Banerjee and Anand Mohan Bose

W AU 3R 3G Aig S

Candidate Answer: 1) Shishir Kumar Ghosh and Radha Kant Dev

.;::::ﬁTQT@TI'R oY AR AN HT &

QID : 358 - In which year did Mahatma Gandhi become the President of the Indian National Congress?
gl AR A Prwy urRdmw Tapt FHT e @ fowuur
Options:

1) Kanpur 1925

PIYR 1925
2) Belgaon 1925

qrlld 1925

3) Kanpur 1919
PIEYR 1919

4) Belgaom 1924
qaid 1924

Correct Answer: 4) Belgaom 1924
Sld 1924




Candidate Answer: 1) Kanpur 1925
PIYR 1925

QID : 359 - When did the Treaty of Versailles take place?

IO Dt I Fhe 32
Options:

1)in 1918
1918 0
2) in 1920
1920 H
3)in 1942
19429
4)in 1919
19191

Correct Answer: 4) in 1919
1919 H

Candidate Answer: 3) in 1942
1942 H

QID : 360 - Which commission was constituted to inquire into the violence that took place during the nationwide
protests against the Rowlatt Act?

JIdie g & G Qa'-‘éT oTdt a@r@saﬁm é @ﬂﬁ\?ﬁ[% o

SHPBITINT BT TS BT U1?

Options:

1) William's Commission

2) Hunter Commission
TR 3TN BT

3) Nikalson commission

CHBTATBINT DI

4) Digby Commission

08 CBIART &

Correct Answer: 2) Hunter Commission

B3 3TN &1

Candidate Answer: 2) Hunter Commission

g SITNT &1

QID : 361 - In which year did the Kakori train action take place?




FPRIAT dfFmy 3
Options:

1)in 1924
1924 9
2)in 1926
1926 4
3)in 1925
19251
4)in 1930
1930 4

Correct Answer: 3) in 1925
1925F

Candidate Answer: [ NOT ANSWERED ]

QID : 362 - Dandi is located in which state?
TISifoem we@yd 32
Options:

1) in Bihar

[SCRIR]

2) in Gujarat

E ]:l-

3) in Rajasthan
XIS YT H

4) in Kerala

A H

Correct Answer: 2) in Gujarat

HENEE!

Candidate Answer: 2) in Gujarat

HENEE!

QID : 363 - What pact did Congress and Gandhiji make with Bhimrao Ambedkar?
HITRTa SfeSaR & T Hi F 3R Tieft of 3 pi-<f Wi awt?
Options:

1) Poona Pact
gy

2) Bombay Pact

a &

3) Calcuttg Pact




HAB o1
4) Banaras Pact
FIRG T

Correct Answer: 1) Poona Pact

IR

Candidate Answer: 3) Calcutta Pact
HAD o1

QID : 364 - Where was the annual session of Congress held in 19297
1929 A Hi 3 &1 fATo fe/a=m Hal o U1?
Options:

1) in Lahore

ARR A

2) in New Delhi
=g h

3) in Calcutta
hdh oTH

4) Madras

H oH

Correct Answer: 1) in Lahore

ARR A

Candidate Answer: 1) in Lahore

ARR A

QID : 365 - Land which is left without cultivation for one or less than one agricultural year is known as

S YW U1 T § HH HIOWY & DA & Deers & wrd @ 99 & YU S
Options:
1) Gross cropried area

Hohdl HHat
) Culturable wasteland

3) Current fallow
A TRt
4) Grazmg land

Correct Answer: 3) Current fallow
A TRt




Candidate Answer: 4) Grazing land
o

QID : 366 - Which is the smallest forest state in India?

YR BT IS BT IAI DI IATR?
Options:

1) Madhya Pradesh
7o

2) Punjab

EEIE]

3) Andhra Pradesh
i e

4) Karnataka
Hlch

Correct Answer: 2) Punjab
EEIE]

Candidate Answer: 1) Madhya Pradesh

BN

QID : 367 - Which of the following are the primary causes of water pollution?
PAafdTa IR Ta QS oIRHEHRU g2
Options:

1) Plants
ary

2) Animals

RR!

3) Human activities
EICCIRRUIIERR]
4) None of these

ERUN aﬂg S8t

Correct Answer: 3) Human activities

A fifafaeat

Candidate Answer: 3) Human activities

A fifafaeat

QID : 368 - Which state is the leading producer of Pyrites?

HHAIIN  URRECH B JE 3 e o7?




Options:

1) Rajasthan
ST YT

2) Karnataka
DHlCh

3) Kerala
E2G|

4) Bihar
ZdBIN

Correct Answer: 4) Bihar
':Z::IEW

Candidate Answer: 2) Karnataka
DICh

QID : 369 - With reference to the minerals and districts where they are predominantly found in Bihar, consider
the following pairs:

Which of the following is/are the correct pair?
i Feldspar - Bhagalpur

ii Pyrites - Jahanabad

iii Granite - Bhagalpur

iv Gold - Purnea

IBRABNRCE: KRR A ke e

i R YFTAQR

ii TSRTSC - SIETHISIG
i ATST - YRTAYR

iv T - gfouR

Options:

1) Only iii
Had T jii
2) Only i & jii
Fad ii 3R iii
3) Only i,ii & iii
iii 3T jii
4)i, ii, i & iv
i, ii, iii 3R iv

Correct Answer: 1) Only iii

Had Tiii

Candidate Answer: 4) i, ii, iii & iv

i, i, iii 3R iv




QID : 370 - Which is not a mineral based industry?

DI 1 RS 3MET A 3 T a?
Options:

1) Iron and steel

FﬁET 3R T old

2) Petrochemicals
oHD

3) Cement

e

4) Rubber

REN

Correct Answer: 4) Rubber
REN

Candidate Answer: 4) Rubber
IR

QID : 371 - The perimeter of the 20 meter long and 15 meter wide garden is-

20 Hex e a7 15 Hiex TS 917 &1 U A 8-

Options:

1) 35 meters
35 Hier

2) 70 meters
70 HicR

3) 140 meters
140 HIcR

4) 5 meters

5 Hlex

Correct Answer: 2) 70 meters

70 Hiex

Candidate Answer: 1) 35 meters

35 Hiex

QID : 372 - The capacity to hold a vessel is called-

SHYERAT & YRV B Dt Al Hadard! %—

Options:




1) Volume
Sdq

2) Capacity
PIRGI

3) area

4) Perimeter
ERCIE

Correct Answer: 2) Capacity
PIRGI

Candidate Answer: 2) Capacity
PIRGI

QID : 373 - Which of the following is an example of a cone?
37 0T @@ @ 19 1 P BT IaeR0 82
Options:

1) Tent
d o

2) Glass
B

32 Ball

EIN}

4) Bottle
CIGK!

Correct Answer: 1) Tent
d o
Candidate Answer: 1) Tent
d

QID : 374 - If we rotate a right angled triangle of height 5 cm and base 3 cm about its height a full turn, we get

ﬁzanﬂsﬁ%ﬁmaﬁwnwméﬁaﬁww YW P SP HAE P U TH T < gAY, ) 8

Options:

1) cone of height 5 cm, base diameter 3 cm
'-‘21@ G| Tjr;’_‘SI'I_.‘i»c 59}, AMYR oTRB I

2) triangle of height 5 cm, base diameter 3 cm
U 1 Fars 5 I, YR oS I

3) cone of height 5 cm, base diameter 6 cm
'-‘21@ GAl Tjr;’_‘SI'I_.‘i»c 5 ﬁtﬁ, AMYR T IH

4) triangle of height 5 cm, base diameter 6 cm




Correct Answer: 3) cone of height 5 cm, base diameter 6 cm

'-‘21@3 Cil 37_‘=|'|T.i,c 59}, 3MYR oI I

Candidate Answer: 2) triangle of height 5 cm, base diameter 3 cm

oY I G)\"_tﬂg 5 @Iﬁ, AMYR B I

QID : 375 - How much will be added to the largest 6 digit number to get the smallest 7 digit number?
6 3ich! dTcH T get § U1 H fodhdsiied IR 7 3ieh] arelt 9ad Bt § a1 fouel-
Options:

1) 10000
10000
2) 1000
1000

3) 100
100

4) 1

1

Correct Answer: 4) 1
1

Candidate Answer: 1) 10000
10000

QID : 376 - The greatest common multiple of 16 and 20 is-

16 SR 20 PTHE T THUG & ©-

Options:

4) None of these

aﬂs‘ S8t

Correct Answer: 2) 4
4

Candidate Answer: 4) None of these

g




QID : 377 - Sum of -36 and 29 is
-36 3TR 29 BT IRT §
Options:
1) -65
-65

2) 65
65

Correct Answer: 3) -7
-7

Candidate Answer: 3) -7
-7

QID:378-|(2 + (- 3)+ (-6)] = ?
(2+(-3)+(-6)=7

Options:

Correct Answer: 1) 7
7

Candidate Answer: 2) -7
-7

QID :379-9.75+3.05+0.2

9.75+3.05+0.2

Options:




1) 18.7
18.7
2)12.8
12.8

3) 16.8
16.8

4) 125
12.5

Correct Answer: 2) 12.8
12.8

Candidate Answer: 1) 18.7
18.7

QID : 380 - 72/10 — 583/100

72/10 — 583/100
Options:

1)1.6
16

2) 1.37
1.37

3) 2.30
1.55
4)2.27
1.4

Correct Answer: 2) 1.37
1.37

Candidate Answer: 1) 1.6
1.6

QID : 381 - Multiplication of-2,—7 and—10 gives

2,7 Y10 BIUA®A o] Bl




Correct Answer: 3) -140
3440

Candidate Answer: 4) 90
90

QID : 382 - 7 paise is equal to
7R SRR
Options:

1) Rs 0.7
07 W@

2) Rs 0.07
007 W
3) Rs 0.007
0.007 T
4) Rs 0.0007
0.0007 T

Correct Answer: 2) Rs 0.07
0.07 W

Candidate Answer: 1) Rs 0.7
07 W

QID : 383 - What is the remainder when 2765 is divided by 67
Sd 2765 B1 6 ¥ O afTTd HaRTal & @ ATHA  BIdT 872

Options:

Correct Answer: 1) 5
5

Candidate Answer: 1) 5
5




QID : 384 - Simon has 918 marbles. He wants to make packets of marbles, with nine marbles in each pack.
How many packs will he be able to make?

TEHT & U 918 % §1 I8 Sl & Ube SAMT Gl s, & U {1 & g1 | I8 vaHe &1 urgme?
Options:

1) 12
12

2) 102
102

3) 162
162

4) 1062
1062

Correct Answer: 2) 102
102

Candidate Answer: 4) 1062
1062

QID : 385 - The total weight of Tania’s bag is 45 kg 750 g and Diana’s bag is 43 kg 950 g. whose bag is heavier
and by how much?

T & o1 &1 I 45 PFHQAV50 T IR ST & o BT g 43 FFHaA50

Options:

1) Tania’s bag is 1 kg 800 g
farrar o197 1 foHaB00 TJ%
2) Diana’s bag is 10 kg 800 g
ST &1 977 10 OwaB00 o™
3) Tania’s bag is 10 kg 880 g
farmn w187 10 PpaBs0 TR
4) Diana’s bag is 1 kg 880 g
ST BT 9T 1 fohass0 TR

Correct Answer: 1) Tania’s bagis 1 kg 800 g
faran 1 o 1 obeBoo o

Candidate Answer: 1) Tania’s bag is 1 kg 800 g
T 1 o 1 obeiBoo <

QID : 386 - Nina bought 5 kg of fruits. On the way home, she ate 750 g of fruits. How much fruit did she take
back home?

19 5 P heipd WIS | TR WA I I 750 ~THhd WU 98 W 9199 fhdwd o 75?2




Options:

1) 4 kg 250 g
4foFpaps0 o™
2)5kg 250 g
5 ®ap50 o™
3)6 kg 250 g
6 fowaps0 o™
4)7 kg 250 g
7 Pwaps0 oM

Correct Answer: 1) 4kg250g
4 e:li:::-WSO o]

Candidate Answer: 2) 5kg250g
5 f>®maps0 o™

QID : 387 - 1 quintal is equal to------
1 € TR g
Options:

1) 10 kilogram
10 iiﬁiir»a'ﬁﬁs:ﬁﬁ::m

2) 100 kilogram
100 e:lil:emsjg]'q
3) 1 kilogram

1 Ppaem

4) 1000 kilogram
1000 fodal-TH

Correct Answer: 2) 100 kilogram

100 o™

Candidate Answer: 2) 100 kilogram
100 fowaro™

QID : 388 - A and B are working on an assignment. A takes 6 hours to type 32 pages on a computer while B
takes 5 hours to type 40 pages. How much time will they take, working together on two different computers, to
type an assignment of 110 pages?

A 3R B U& ST WHTH IR IQEIABI & I W 32 U5 I A H 6 T T § S B HY 40 US 22U
PRAAS5YC AT & AT S R RIS T PFHE BRI U, 1107 Bl T SRAAC 3T A 4 3

Options:

1) 7 hrs 30 min
7 9¢ 30 fome




2)8 hrs

gHc

3) 8 hrs and 15 min
8 °e 3R 15 formTe
4) 8 hrs 25 min

8 Hc 25 fomme

Correct Answer: 3) 8 hrs and 15 min

8 Te 3R 15 fore

Candidate Answer: 3) 8 hrs and 15 min
g °c GﬁT 15 T-:HAC

QID : 389 - The class-mark of the class 30-40 is
30-40 &1 117 &:-
Options:

1) 10
10
2) 30
30
3) 35
35
4) 40
40

Correct Answer: 3) 35
35

Candidate Answer: 1) 10
10

QID : 390 - Which of the following is the probability of an impossible event?

27 20 @@ q o1 I T SRIHT e Bt YU 872

Options:

1) 1

1

2)0

0

3) Between 0 and 1
03R 1&g

4) None of these

Correct Answer: 2) 0




Candidate Answer: 3) Between 0 and 1

03R 1P

QID : 391 - 10 belongs to the class interval ——
10 T SfARTA P ST 1Al § ——
Options:

1) 0-10
0-10
2) 10 - 20
10-20
3)0-20
0-20
4).0-5
.0-5

Correct Answer: 2) 10-20
10-20

Candidate Answer: 2) 10-20
10 - 20

QID : 392 - On subtracting first 25 odd numbers from first 30 odd numbers we get

yr 30 foaum <Y ym2s5foaum  oTefipl Ue )R gH of giaTg
Options:

1) 52
52

2) 375
375
3)5

5

4) 275
275

Correct Answer: 4) 275
275

Candidate Answer: 3) 5
5

QID : 393 - If NOIDA is written as OPJEB, then what will be the code for DELHI?




g NOIDA & OPJEB fO@RGWIT df DELHI T HIS  <BNTI?
Options:

1) EFMAK
EFMAK

2) EFAMK
EFAMK

3) EFMIJ
EFMIJ

4) EFMIK
EFMIK

Correct Answer: 3) EFMIJ
EFMIJ

Candidate Answer: 4) EFMIK
EFMIK

QID : 394 - A person got a 10% increase in his salary. If his salary was Rs. 50000, then the new salary is:

e FATHA10% B 3| g IUH13d 50000 . &, @ 191 I &
Options:

1) Rs. 55000
. 55000

2) Rs. 60000
. 60000

3) Rs. 45000
. 45000

4) Rs. 65000
. 65000

Correct Answer: 1) Rs. 55000
. 55000

Candidate Answer: 2) Rs. 60000
. 60000

QID : 395 - BD is the diagonal of parallelogram ABCD such that 2CBD=12x,2ABD=7y,2ADB=60° and
CDB=28°.Then the value of 2x+3y is:

f HeRmATaR IgYS ABCD &1 >9%UBD 30 &R § o dCBD=12x,£ABD=7y,.ADB=60° 3R ~CDB=28° §| 51d
2x+3y DT HIH %:

Options:

1) 21°




21°
2) 22°
22°
3)23°
23
4) 20°
20°

Correct Answer: 2) 22°
22°

Candidate Answer: 1) 21°
21°

QID : 396 - National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to be
used in classroom teaching. Which among the following are correct in the context of using sports integrated
pedagogy in mathematics classroom? (a) Teaching-learning process shall become joyful. (b) It is not possible to
use sports for teaching mathematics. (c) It will be time consuming and hence needs to be avoided. (d) Apart
from popular sports, there are many indigenous sports which can be used in teaching mathematics. Choose the
correct option :

I &g o= offffa, 2020 foUwT YR § foad Tdhied O TR &1 & oTH IUTNT A B 3Md Ihdl g | WA
THIpd =1 o1 & Ty | fod Bt & o1 o PR @d 7 &1 1 5y 981 32 (o) Du oilRrerm R
3 SERHE! S| (b) W BT YT UG UgH AT Ha ST | (c) ST I T T T 81 ST af 3 eTa T
faeul (@) £ @Fﬁ%&ﬁmaﬁ gesiht G  Reesuan fiod uer 9 Peuwst 9o 81 98l s & -

Options:

1) (b) and (c)

(b) 3R (c)

2) (a) and (d)

(a) 3R (d)

3) (b), (c) and (d)
(b), (c) 3R (d)
4) (a) and (c)

(a) 3R (c)

Correct Answer: 2) (a)and (d)

(a) 3R (d)

Candidate Answer: 4) (a) and (c)
(8) 3R (c)

QID : 397 - ABCD is a rhombus in which ZADB = 25°. Then, the value of ( 22BAD - ABC ) is :

ABCD U& THagys § , oo ADB = 25° 51 A9, (2 2 BAD - 2 ABC ) BT AF &:

Options:

1) 230°




230°
2) 240°
240°
3) 210°
210°
4) 260°
260°

Correct Answer: 1) 230°
230°

Candidate Answer: 3) 210°
210°

QID : 398 - What is the mean of the mode, median and range of the data given below?
17,8,11,13,9,14,10,11,16,23,15,7

TR U s F TdF , AT TP IR UIW BTATT AT8? 17,8,11,13,9,14,10,11,16,23,15,7

Options:

1) 13
13
2)125
125
3) 135
135
4) 12
12

Correct Answer: 1) 13
13

Candidate Answer: 1) 13
13

QID : 399 - A shop reduced its prices by 10% . What is the new price of an item which was previously sold for %
500 ?

TP GH A U HIAAI 7 10% B HH BT | Th JMHE $I T8 ST T8, S Ugal 2 500 T o7 o1t 2t 2
Options:

1) 510
510
2) 550
550
3) 450
450
4) 400




400

Correct Answer: 3) 450
450

Candidate Answer: 1) 510
510

QID : 400 - Which one of the following methods is most suitable for teaching mathematics at upper primary
level?

3 d RS R W Aud ugH & foau i

T 7 Y HH- o fawmed Ree Iug 98 2

Options:

1) Demonstration method
S fofay

2) Lecture method

g1 g fofdy

3) Activity-based learning

ffafae-amer ¥a ferermm

4) Problem-solving method

T grgaTyH fofay

Correct Answer: 4) Problem-solving method
T graEye fofay

Candidate Answer: 2) Lecture method
a1 g fofay

QID : 401 - What should be connected with family education, so as to enhance the results?
UG P B Iy HIST 9T R8T, faie U Yoy 98aR 81 96 ?
Options:

1) Information technology
I IfowTet
2) Administration

RUNE]
3) Political power
NEIEIRCAR]
4) Human resources
AT LT

Correct Answer: 1) Information technology

Candidate Answer: 3) Political power

NSIEIRER




QID : 402 - Animals that live in jungle are called
SITEl 7 3 aTe} ST} 1 Hel oilell 8

Options:

1) wild animals
CUNIECIECH
2) all of these
gt

3) farm animals
Wd b AR

4) pet animals

EINGRSIRERN

Correct Answer: 1) wild animals

SHT SIHFeR

Candidate Answer: 1) wild animals

SHT SIHFER

QID : 403 - Lizard claws are used as

SBUmh Ul BT ITANT S HIHITAr %

Options:

1) Aids in catching prey
fORBTRIG S | FEd HRal &
2) Aids in climbing

TGTS H eIl BT 8

3) Aids in laying eggs

3(S I 7 WETI Al ©

4) Hurdle in running fast

oS Gre | aTefT

Correct Answer: 2) Aids in climbing

TIGTs | JETIdl Bl &

Candidate Answer: 3) Aids in laying eggs
37 & 1 TR Rl §

QID : 404 - Which of the following do not belong to the mammal family?

[0 B EGIRCE: | Q a'ﬁ:[ :I'CITCﬁ TJIdR @' TS| -::::::e%ra».f::-:r%?

Options:




1) Dog

? -:I‘:fi:-T
2) Whales

3) Bats
IHMGS
4) Frog
Hed

Correct Answer: 4) Frog
Hoh

Candidate Answer: 1) Dog
P ol

QID : 405 - Ants move in a line because of their sense of:-
ACOBO e S PRU TG T H Fald! 8-
Options:

1) sight.

ENED

2) smell

T,

3) taste.
olq

4) hearing.

qu]

Correct Answer: 2) smell
Y.

Candidate Answer: 2) smell
T,

QID : 406 - How many players play in a basketball team at a time?
TS d <edid 9 J U 99y H fosdadrs! Tad 82

Options:




Correct Answer: 2) 5
5

Candidate Answer: 1) 4
4

QID : 407 - The small children who are forced to work is considered as

SHBR T WM HAA AT ], —-——-HMH ST §
Options:

1) Player
et
2) Plumber

R
3) Child labour
qdid |
4) Teacher
EOUGH

Correct Answer: 3) Child labour
did |

Candidate Answer: 3) Child labour
ISR

QID : 408 - Which energy we get by burning of fuels?
YT AN A D A Fo T Blail 872
Options:

1) heat
H
2) none of these
TTH @' aﬁg .::fi:s:lﬁ
3) light

DI
4) solar

TR

Correct Answer: 1) heat
H

Candidate Answer: 1) heat
H




QID : 409 - Why do we keep food and vegetables in the refrigerator?
AWM SRY T 7 XWdg?
Options:

1) To keep them fresh.

3 dell ReCER: BNIY

2) To make them crisp.

3 PP o o fodu

3) To make them more tasteful

3 G?R e ala TH P LY
4) None.

aﬁg S8t

Correct Answer: 1) To keep them fresh.

I amn T & foan

Candidate Answer: 1) To keep them fresh.

3 il Wﬁas s:iﬁi::m

QID : 410 - In which one of the following states of our country do most people like to eat sea fish cooked in
coconut oil?

eAR W » AN T A NHR A RiebaR A A10d S dd | THTS T8 T HSel T TS PR 82

Options:

1) mizoram
2) goa
Tar
3) jammu and kashmir
Sl Qﬁ?$ SR
4) bihar
BCRIRS

Correct Answer: 2) goa

T

Candidate Answer: 2) goa

T

QID : 411 - Rehana goes to Kerala along with her family. There she sees tall trees which are very different from
those in her hometown, Shimla. Which trees could she have seen in kerala?

BT 30 U AR & T B ST ¢ | 8T 98 -3 d U S/l § S 3P TR T USi 4T d 3T g
I HRA A B I TS W g




Options:

1) coconut
BIRT]
2) apple
9
3) litchi
NIE]l
4) pine
CECIN
Correct Answer: 1) coconut
BIRTN]
Candidate Answer: 1) coconut
BIRT]

QID : 412 - Glass jars and bottles are dried well in the sun before filling them with pickles. Why is it so?

H P IR AR N Bl SR A RAYUSA YU A A HRe @IS g1 T &2

Options:
1) to increase their temperature
371 dIUHM SgH & ey
2) to remove the dust from them
W Yol g_c,"lﬁ a; -qu
3) to remove the moisture completely
T &) gl kg ¥ geH & fodu

4)  to make pickles tasty

MR ® PR TR & e

Correct Answer: 3) to remove the moisture completely

T ) ) ke @ ger H Per

Candidate Answer: 4) to make pickles tasty

SR a')l[ 81 [ a’-_-[ﬁ 3'7 s:iij:e?l'a

QID : 413 - Which of the following is the main purpose of carbohydrates in the body?
PAIRTTa AP T RRAPERRS THI Y o3 72
Options:

1) They provide chemicals repairing cells, and aid in digestion.
3 fHIeTefl PT AR T B 91 [T GH B4 8, 3R Ui J JgRidl Hd 8l
2) They help regulate hormones and maintain body temperature within the body

3 B &I FOFARAERT 3R TRR & HicR IRR & TTUHH &I §91E I8 H Heg HRd Bl

3) They are the main source of energy for everybody.

e




dgft s A S IF|
4) None of these

Correct Answer: 3) They are the main source of energy for everybody.

JefiF a@Ea sy oI&|

Candidate Answer: 3) They are the main source of energy for everybody.

It A S IE|

QID : 414 - Change of water into water vapour is known as

JA BT OAd] T U G B HET ST 8|
Options:

1) Condensation.
g o,

2) Evaporation.
CIISiC |

3) Sedimentation
SENICE]

4) All.

.

Correct Answer: 2) Evaporation.

1) W

Candidate Answer: 4) All.
.

QID : 415 - Who was not the first person to climb on top of Mt. Everest?
q¥c TR &I FIcl R TG a1 Ugd P STER
Options:

1) Sherpa Tenzing.
RRYT ST

2) Sir Admond Hillary
3) Shushil Kumar.

e $AR

4) None.

7

Correct Answer: 3) Shushil Kumar.

i AR

Candidate Answer: 1) Sherpa Tenzing.




QID : 416 - Where is Golconda Fort situated?

Correct Answer: 1) Hyderabad.

Candidate Answer: 3) Mumbai

e

QID : 417 - Where is the Gateway of India situated?
e 3ITh §>sTmal  Ud 872
Options:

1) Mumbai.
sl

2) Delhi.
oq (T

3) Chennai
33

4) Bangalore

g

Correct Answer: 1) Mumbai.
e

Candidate Answer: 2) Delhi.

QID : 418 - Which National Highway connects Delhi and Kolkata via Varanasi

DI TRSHT IR & AT A 7 BIR DI o sisdl g2




Options:

1) NH4
TTE4
2) NH10

TATE10
3) NH2

THTE2
4) NH6

TTEEs

Correct Answer: 3) NH2
TTE2

Candidate Answer: 1) NH4
TTH4

QID : 419 - The position of Indian Railways network in the world is
YRATYed Aead H1foa 7 U g
Options:

1) Second

QT

2) Third
TR

3) Fourth
T

4) Fifth
UICE]

Correct Answer: 1) Second

N

Candidate Answer: 1) Second

RSN

QID : 420 - Railways are more in North Indian plains because

Options:

1) The area is more productive

g S RIYF I olch 7

2) It is densely populated

G YT TS aTell §

3) The region offers least physical resistance




4) All of these
PR

Correct Answer: 4) All of these

T gt

Candidate Answer: 4) All of these
g gt

QID : 421 - Which of these became one of the first animals to fly into the space?
PRI T@ I P AT A ISH HRA I1d g SHaRI A T U &9 741
Options:

1) House
R

2) Dog
Q’T ol

3) Lizard
e:lijzem
4) Lion
-:::::;E'

Correct Answer: 2) Dog

? Sl

Candidate Answer: 3) Lizard

e:lﬁjzem

QID : 422 - Collecting rainwater from the rooftop to a storage tank, through pipes is called

TIAURTS AT H Y IUT ofd] Bl HSRUI ¢h H Ufhd  HAT HEAT |

Options:

1) rooftop rainwater harvesting
ERR NN NRERE]

2) storage harvesting

YSRU Helg

3) conservation of water
Sq W

4) cleaning water

WpTs BT U

Correct Answer: 1) rooftop rainwater harvesting
ERR NN NRERE]

Candidate Answer: 1) rooftop rainwater harvesting
ESRRELISNESERE]




QID : 423 - Which of the following is called 'Universal Solvent'?

ST99ET @ Pl WIdl 82

o T\a REL: ] ﬁ [$)

Correct Answer: 3) Water

Bisl

Candidate Answer: 4) Petrol

uerd

QID : 424 - What do we call the animals that are capable of living both on land and in the water?
TISAITARI B <WHgd § off T SR UMl gHI R|A AT H 82
Options:

1) Mammals
TR

2) Amphibians

SHIR

3) Aquatic

Sl

4) Hydrophytes

<

Correct Answer: 2) Amphibians
SHIR

Candidate Answer: 2) Amphibians
SHIR

QID : 425 - Which of the following statement is true.

A TE A BT T HYT T % |

Options:




1) Businesses and industries are responsible for water pollution
ALY ® STy LR 1) 3R 3 e ARy i

2) The flow of water increases in summers

3) Swimming in unclean water is healthy

TEUN AR o dub 3

4) 28% of water on earth is available for drinking

7 IR 28% T TR & Pasud &

Correct Answer: 1) Businesses and industries are responsible for water pollution

I gy % oA aumE SR 3 oo AR §

Candidate Answer: 2) The flow of water increases in summers
&t BIATA DT I8 §¢ oIl §

QID : 426 - The diseases cholera, typhoid and jaundice are due to the pollution of
BT, TTEhIss 3R fierar A ¥ U P HRUEIA

Options:

1) water

grt
2) air
ag

Correct Answer: 1) water

T

Candidate Answer: 1) water

LIl

QID : 427 - How much water should you drink daily for good health?
23 o sfoaemer ffaedwauH g fagee
Options:

1) 1-2 glasses
1-2 forrera

2) 3-4 glasses
3-4 17l

3) 6-8 glasses
6-8 formar

4) 15-20 glasses




15-20 T:: AT

Correct Answer: 3) 6-8 glasses
6-8 foTrery

Candidate Answer: 3) 6-8 glasses

QID : 428 - A shelter us.
Th AT AR
Options:

1) Beats
HgHdl §

2) protects
IR Rl %
3) eats
IR

4) all of these
1 9 gt

Correct Answer: 2) protects

IR Wl §

Candidate Answer: 2) protects

g odl %

QID : 429 - Some old houses in Srinagar have a special window which comes out of the wall known as
TG $8 RMA WA TH Do ws! gt 8 o dlar ¥ fowacds fooaper SIdr 8
Options:

1) Lekha

i

2) Donga

o 3

) Dab

g

4) Mehraab

H

Correct Answer: 3) Dab
SS9

Candidate Answer: 1) Lekha
[GCll




QID : 430 - In cities, there are tall buildings called
eI H Sd! SARG Bidl § fodl HET oIl §
Options:

1) multistory buildings
9 H oS8 HARd

2) hut

st

3) balconies
CIEIEED

4) igloos

g o

Correct Answer: 1) multistory buildings
¥ foolegHRd

Candidate Answer: 1) multistory buildings

QID : 431 - Potatoes, cereals, beans, pulses and oats are rich in

3T, 3T, I, T 3R o8 I gl

Options:

1) Proteins
S

2) Vitamins

-::Iﬁjzeaﬁ'qu

3) Minerals

[[CEK|

4) Carbohydrates

CACRERE

Correct Answer: 4) Carbohydrates

PSS T

Candidate Answer: 1) Proteins

SdE|

QID : 432 - The addition of these adulterants lowers the

SHAgeHn! T YIS &1 H ®H E‘ﬁ SiGI % |

Options:

value of food.




1) Substance
Jary

2) Quality
TIUIH ol

3) Nutrients
Qv

4) Quantity
ql T

Correct Answer: 3) Nutrients

U d

Candidate Answer: 3) Nutrients

UN& d

QID : 433 - Adulterants are substances or low-quality goods that are intentionally added to food for economic or
technical reasons.

CHAAN UG A1 3770/ o1aTd WM § 08 SHagiR 3 a1 ab-ich! RN 4 Hie 7 oHa™awId ¢
Options:

1) Can be true or false
9 A FEPAI G
2) Cannot say

;::?:ﬂ@v—g Jghd %

3) TRUE

g

4) FALSE

3

Correct Answer: 1) Can be true or false
I TN P By

Candidate Answer: 2) Cannot say

QID : 434 - Water plays an important role in the functioning of our body because it

O §AR RRR & HHBS G TH A gU BT A A g

Options:

1) Dissolves a large number of substances
E@:[H ~HUqlY ﬁ‘ihﬂ?ﬂ%

2) Is hard

FOR 8

3) Is transparent

UREX §

4) Nonia of these

5 o ot




3?1:[ @' ﬁg '::fi:s:lﬁ

Correct Answer: 1) Dissolves a large number of substances

El?‘;[ ¥ CAUS &I diadl %

Candidate Answer: 4) None of these

THI DR TG

QID : 435 - We group things together because

BH TIoll DI T Y Ig@RA & [osh

Options:

1) Dividing materials in groups makes it convenient to study their properties and observe patterns in these
properties.

Tt B gl 7 Dafieiana ¥ 3% Ui &7 g9 AT 3R 37 Ui A Y BT K01 =1 Yo qursiae!
EiGIE]

2) We can throw away similar materials

B 9 Il &l b Hhd B

3) We can keep similar materials in our rack at one place

T A &1 8H U XSG A TG U IR W 9dhd Bl

4) We can keep similar materials on the palm

BASY HR Bl UM il g | G I&hd 8l

Correct Answer: 1) Dividing materials in groups makes it convenient to study their properties and observe
patterns in these properties.

iR &) wEgl | P afierana ¥ 3% O BT 31T FHRAT 3R 87 Ui A Yed &1 801 v i aersag!
S

Candidate Answer: 1) Dividing materials in groups makes it convenient to study their properties and observe

patterns in these properties.
w&m; 1 THg! H PafNIerapa ¥ 39 0l BT 3 F9 - ST 3R 37 07 H Ued H1 A8 v =1 Yo aureras!
SIS

QID : 436 - They are primary consumers
3 TR B
Options:

1) Tiger and Bear

Y 3R UG,

2) Rabbit and deer

3) Tiger and lion

19 3R W

4) Human being and bear

ERIEEIRY




Correct Answer: 4) Human being and bear

I 3R T

Candidate Answer: 4) Human being and bear

M 3R IS,

QID : 437 - The plants and animals that live on land are said to live in habitats ?

Options:

1) Terrestrial habitats
Yy STaT
2) Aquatic habitats
ST 3frarg
3) both Terrestrial habitats and Aquatic habitats
T 3R &t g1

4) none of these

TTH ﬁ aﬁg .::Z?Z:s-_-rgﬁ

Correct Answer: 1) Terrestrial habitats

Y1 1A

Candidate Answer: 3) both Terrestrial habitats and Aquatic habitats

T 3R &t At

QID : 438 - The process of breathing of living organisms is called ?
fSfad shal & A &1 a1 &1 T STl 52
Options:

1) Respiration
RE

2) Photosynthesis
CaN Y

3) Stimuli

SIS

4) Excretion

3 oA

Correct Answer: 1) Respiration
-

Candidate Answer: 4) Excretion
3 oA




QID : 439 - 1 m ( Metre ) = cm ( Centimetre ) ?

1 Hiex ([ Hiew) = It (FétHieR)?
Options:

1) 10
10

2) 1000
1000
3) 100
100

4) 110
110

Correct Answer: 3) 100
100

Candidate Answer: 3) 100
100

QID : 440 - Which is a standard unit of measurement?

HIY Pt HFH SHTS DI It 872
Options:

1) Finger
R

2) Fist

H Q[

3) Step
DhaH

4) Inch

e

Correct Answer: 4) Inch

EE|

Candidate Answer: 4) Inch

d

QID : 441 - In which year, the S| system was recommended by general conference of weights and measures?

DHEY, JO IR AT S IMET F o oRUG3S  UMell b1 fgoer w1 178 ofi?
Options:

1) 1950
1950




2) 1960
1960
3) 1970
1970
4) 1980
1980

Correct Answer: 2) 1960
1960

Candidate Answer: 2) 1960
1960

QID : 442 - Which of the following statements is or are incorrect?

ww%ﬁamﬁﬁﬁ@a%wwwﬁg@ww SR | P wammg @ Rig g1 ekt & i @t gt
480 T

Options:

1) The movement of an object is called stationary-motion.

10 °¢

2) The movement or duration in which things occur is called time

116

3) An object is said to be in motion or moving when its position changes with time

1492

4) When the position of the car changes with, we say that the car is moving or that the car is in motion.

129¢

Correct Answer: 4) When the position of the car changes with, we say that the car is moving or that the car is
in motion.

12 °¢

Candidate Answer: 1) The movement of an object is called stationary-motion.

10 ¢

QID : 443 - is a safety wire which protects us from electric shocks and electric fire.
TH PR R ¢ ot g4 foaoTeip ek 3R fasTeip! ST § Jamar g
Options:

1) Earth wire

Y TR T S ¥ ST IR
2) Neutral wire

dcy/ ¢ddR

3) Live wire

dRddr A foag Iar

4) None of these

2TH @' aﬁg .::Z?Z:s-_-rEﬁ'




Correct Answer: 1) Earth wire

3 IR T SIHH W ST R

Candidate Answer: 1) Earth wire

3 IR T S 9 ST dR

QID : 444 - Electrical wires and parts of electrical appliances are covered with

> oTceith dR SR i aercite Sus ol & 8 -\_ TP B 8

Options:

1) Silver
il
2) Copper

Correct Answer: 4) plastic
o] P

Candidate Answer: 4) plastic
S1

QID : 445 - The outermost layer of earth is called
g bt gaY 9183 IRd dHeard o

Options:

1) mantle
Hcd

2) outer core
EIREN

3) crust
quSt

4) inner core
3{id X DR

Correct Answer: 3) crust

gus!

Candidate Answer: 3) crust

qus!




QID : 446 - Lightening occurs due to

ey TR HRUT B §

Options:

1) Electric discharge

4) Lord Varun’s anger
JU @H Y

Correct Answer: 1) Electric discharge

SeeTeip foTasT

Candidate Answer: 2) Rain
CIRS

QID : 447 - During a thunderstorm which action may be done?

B & GRA $IF I a1 3 S Tl 52

Options:

1) Using Telephone having cord
OhTS a'lﬁ Cﬂnllhl"l DT SUINT hRAI
2) Switching on/off electric lights
CSIcitpl TS T A /S BT

3) Using a mobile phone
HISTSd B BT SUIRT BT

4) None of these

THADE T

Correct Answer: 3) Using a mobile phone

AlESd B BT ITANT BT

Candidate Answer: 4) None of these

TTH i aﬁg .::f::z:ﬁ’[

QID : 448 - World Water Day is celebrated on

>g 9d fogag T FT ST o |
Options:

1) 45372




21 941G
2) 45373
22 UTE
3) 45464
21 S

4) None of these

THADE TR

Correct Answer: 2) 45373
22 "4

Candidate Answer: 2) 45373
22 Hd

QID : 449 - What makes an object or substance a resource?

Shay AT ey HIIGYT HAET %?
Options:

1) Availability
3Iud dr
2) Utility

3) Reliability
o9 gHgan
4) Reachability

O

Correct Answer: 2) Utility

JUFRIRTAT

Candidate Answer: 3) Reliability
foa Sitgan

QID : 450 - The resources which get renewed or replenished quickly are called?
I T S =t FdiFied a1 g gfo@) S 8, HEdnd 82
Options:

1) Natural resources

2) Renewable resources
ECIERUIRRNINE|

3) Non-renewable resource
IR BN HATeH

4) Human resources
BIECEIRIUE]




Correct Answer: 2) Renewable resources

BEICRLIRRIOE]

Candidate Answer: 2) Renewable resources

BEICRUIBRICE]
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